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Annexure-A
Format
To,
Assistant Personnel Officer,
Mechanical Workshop, Samastipur

Subject:-Representation against the Provisional Answer Keys Published as on
12.08.2024 on the Website of E.C Railway/SPJ
Li cissnnns s smumunn wnmanmanssniss (Full Name), Designation.............oooooooeeee
place of Posting.......ccccooovvinnnnns Challenge the key provided in connection with the written
Exam held on 12.08.2024 (Monday) to the post of Junior Engineer, Level-06 of Mechanical
Workshop/SP1.

Question No Answer key as Correct Answer As Reason(s) with
published on Website per Candidate Supporting
Documents

Signature:
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Employee No:
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Station:



Mechanical Workshop/Samastipur
Exam for selection of JE, Level-06 against 25% departmental quota

Duration — 02 Hours_ Date — 12/08/2024 Maximum Marks — 100

Important Instructions:

1. There will be no negative marking. Each question carries 01 mark.
Total 110 questions are given in this question paper. 100 questions are to be attempted.
Questions 1 to 90 are compulsory. Attempt either questions 91 to 100 or 101 to 110.
Choose only one option in each question from the given 04 options.
Use only blue or black ball pen.
No cutting, overwriting, erasing or correction of answer is permitted. In all these cases
evaluation of the respective question will not be done,
Hgcaqot e
1. I ARRICHE 3ehel 761 g1 | TeIeh U9 & 01 37 & |
2. SH YA YT H Fol 110 9T & 100 §967) 1 o7 v §1 Toe71 @90 HfAardF &1 se791 &100
41101 §110 H & 3t v Be 71 9398 Y
3. el 99 7 R I 04 fasedt & ¥ el v fwed 97|
4. Secl Tol AT FTAT ot Ut T ST Y|
5. 3CH BIS Herd, a3, Fersr ar QR A ety 76§ o A & geti v
T FeATeheT FTET T ST

2]

v oW

1. What is the S| unit of force?

A} Joule B) Newton C) Pascal D) Watt
6T &l S| SHIS FATE?
A) ST B) #ga C) ITEheT D) dTc

2. Which law states that the total current entering a junction is equal to the total current leaving the
junction?

A) Ohm's Law  B) Faraday’s Law C) Kirchhoff's Current Law D) Ampere’s Law
ﬁﬂmﬁwm%%wmmﬁqﬁ%rmaﬁfﬂﬁmgﬁrwﬁaﬁamﬁmﬁ
ATl 4R & SXET 27

A) 31T T ey B) TS & sy C) fereifes st emer fags D) TR &1 ferre

3. Which phenomenon is responsible for the blue color of the sky?
A) Scattering  B) Reflection  C) Refraction D) Diffraction

AT & @ W F fav sl ar gear SGeder ¥
A) 9hIOTH  B) Wads  C) 3uadd D) fade

4. The work done to move a charge in an electric field is known as:
A) Electrical Energy B) Resistance  C) Current D) Voltage

faegd &g # v Irel S TaRa w F oT B o s
A) faega Fsi B) gfair  C) &my D) dlees
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C) A3 # &3 T fashferat a1 3regerar eey v a7
D) 3ULTerd Tt

13. How to extinguish a fire originated from oil?
A) Foam fire extinguisher B) Water
C) CTC fire extinguisher D) Soda acid fire extinguisher
T H IcUeed I B FE AT S FehAT 2

A) BIHE HfTaemHR IF

B) 9r=AT
C) e sifdaremas a3 D) &gl ufgg Hfeaemas o9
14. Bronze is an alloy of —
A) Copper-tin B) Iron-chromium  C) Iron-carbon D) Copper-zinc
sileot Ueh fHAUTT & -
A arerfes  B) algwiags

C)ellg-areT D) Fier-srEar
15. How many minutes will it take a tap running at 35 liters per second to fill a tank of capacity 21000
litres —

A) 20 minutes  B) 15 minutes C) 10 minutes D) 5 minutes

35 S Gt Hehs T 97T & 5=t are) ofeT T 21,000 e &THT 3 o FT 84 7 ey
fFere oY -
A20fde B 1sfAEe ) 10ffme D)5 fAEee
16. How is the acetylene cylinder kept during welding?
A) Inclined B) Inverted C) Horizontal D) Vertical
dfeser & el vfafeehsr fest & &a wr Jmar &

A) ST §3T  B) Fefer C)oleT §3T D)@sT
17. What is process of increasing toughness and reducing brittleness of steel called?
A) Annealing  B) Hardening  C) Normalising D) Tempering

SEITT T FHORAT &l FA Far IR ST & &7 F AT 9fFar #1 F=ar Far

ST 87

A) wellfelar  B) s ) AtdeEeT p) dwafter

18. A ball moves in a frictionless inclined table without slipping. The work done
by the table surface on the ball is

A) Negative B) Zero C) Positive D) None of the option

wﬂawa&ﬁw@yaﬁwwﬁwwmﬁlmwmﬁaw
rhar s T g -

A) THRTHF B) T

C) FHNIHS D) SIS A & FIS 78T

19. Ratio of the volumes of a cylinder and cone having the same radius and height is 7
A)1:3 B) 1:2 C)3:1 By 21
AT 51 3R F418 arel v f@eist 3R I & HTATAT 37 37T T § ?
A)1:3 B)1:2 )3 D) 2:1

20. If the distance between earth and sun doubles, what would be the change in
gravitational force between the two?

A) Remain same B) Be halved C) Become 1/3rd D) Becomel/4th

el gy 3 HA o orer BT g0 P &1 ST &, A 3k iy & IbeardoT a3
aRacts graT?

A)GET I B) HTUTET STTIM  C) 1/3 8T ST D) 1/4 &1 STQam

21. Adice is rolled once. What is the probability of getting an even number?
A)1/2 B) 1/6 C)1/3 D) 2/3
Ueh GTHT U SR thehl STl & | TH HEIT 3TeT T HHTGAT 7 &7
A)1/2 B)1/6 C)1/3 D)2/3
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wamﬁmﬁaamwaﬁweo%ﬁ?lwﬁmwm?
A)1sfsalr  B)asfRafr  c)30fal  b) 6o fRalY

32. What is the main purpose of lubrication in machinery?
A] To cool the machinery B) To enhance electrical conductivity
C) To increase friction D) To reduce wear and tear

HATTT H TR T HET 3632 FATE?
A) T T 3T FLAT B) $ifeFgehol HsfFefady agmem
C) a9 vT FETaAT D) ferdTa 3% &7fey &7 e e

33. The property of a material which enables it to resist fracture due to impact loads is
A) elasticity B) endurance  C) strength D) toughness

U HIFHIT 1 g ALY ST S T W15 % FROT ge @ e §,
A) oTITeTa= B) HeaAefrerar C) ATehe D) AT

34. Which of the following is an irrational number?
A)22/7 B) v2 Cn D)2
frfafaa & @ i a1 ve 3vf@T e i
A) 22/7 B) v2 Cn D)2
35. The slope of the line represented by the equation y=3x+4y = 3x + 4y=3x+4 is:
A)3 B)4 C1 D)-3
HATHIVT y=3x+dy = 3x + dy=3x+4 GANT WA T 7S T T TTer FT &7
A)3 B4 (1 D)-3
36. What is the value of taniii450\tan 45"\circtan45e?
A)O B) 1 C)v2 D)1/2
tan45e el HTeT T g7
A)Q B)1 C)v2 D)1/v2

37. What is the solution to the system of equations (x+y) =10 and (x-y)=2?
A) x=6,y=4 B) x=5,y=5 C) x=7,y=3 D) x=8,y=2
HHIAOT (x+y) = 10 and (x-y) = 2 % G I HHTUT FT §?
A) x=6,y=4 B) x=5,y=5 €)x=7,y=3 D) x=8,y=2
38. The distance between the points (2,3) and (5,7) is:
A)5 B)e Q)7 D)8
fag3im (2,3) 3R (5,7) Fd@ Hrgd Fm e
A)S B) 6 EI7 D)8
39. What is the value of log, 1000 ?
A)1 B)2 ()3 D)4
logiy 1000 HTATH FTE ?
A) 1 B) 2 €)3 D)4
40. Which of the following is a prime number?
A)21 B)29 ()35 D)39
ferrfofaa 7 @ st a1 v wrafas g
A)21 B)29 ()35 D)39
41. Which welding process uses a non-consumable electrode?

A) TIG welding B) MIG welding C) Stick welding D) Flux-cored welding
et €T afeser fmar 71 veh AR-3ustierdr gaierels & 3TaT a2
A) TIG afeser B) MIG afeger C) Reeer afesar D) Fererd-ah1s Afeger

42. What is the purpose of a flux in welding?
A) To improve the color of the weld
B) To increase the welding speed
C) To reduce the temperature of the weld
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T T 3T ATIHAT IR T3 i AR TR - &1 et Fr wirar sl dr g
A)CFARET  B) adfeer C) gTafaer D) UIfeer

50. What is the process of joining metals using a filler material that has a lower melting point called?
A) Casting B) Welding C) Brazing D) Forging

UTIHT 1 SATsat 1 Sfsrar forast ver srra araef & surer Rrar sirar & forad momis &
BT &, ST gt §?
A) wifEeer  B)afeger C) sfster D) FIfSTaT

51. Which country won the 2023 FIFA Women's World Cup?
A) United States B) Australia C) Sweden D) Spain

2023 T AR e e sy farg or o sham?
A) TG T ARG B) et ) wdEa D) TU=T

52. Which country is the world's largest producer of electric vehicles as of 20247

A) United States B) China C) Germany D) Japan
2024 T et HT G2 1T T G T57 SeifeFeeh aTgeT Ieames &7
A) TGFT U 3R B) et C) STH=AT D) STITeT
53. What is the new name of the major social media platform formerly known as Twitter?
A) X B) TweetSpace C) Chirp D) TwitNet
9 Al & ATH W SRy S wRre ST CTwiE AT A T E
A)X  B)TdeEdH Q) "Rg D) efdeate
54. Which planet is known as the "Red Planet"?
A) Venus B) Mars C) Jupiter D) Saturn
CATel 918" o ATH § Rl AT 318 SATAT SITam &7
A) 2sh B) HITeT Ogerufa D) ufa
55. Whatis the capital of Australia?
A) Sydney B) Melbourne C) Canberra D) Brishane
e feraT 1 s R 2

A) faeadr B) Hofeel C) SheAeT D) To&aaT

56. Which element has the chemical symbol 'Au'?
A) Silver B) lron C) Aluminum D) Gold

'Au' T oY Telteh foRd ded T i
A) TTEY B) ol C) TogATags D) |=T

57. Which is the smallest country in the world by land area?
A) Monaco B) Nauru C) Vatican City D) San Marino

gferar &1 Fad BeT &2 R AT ST 2
A) FIATRT B) FATI® C) afeher TOET D) ¥ AT

58. Which gas is most abundant in Earth's atmosphere?
A) Nitrogen B) Hydrogen  C) Oxygen D) Carbon Dioxide

gt & IrgHSe A geard Ty N HlT A g
A)TSEISTT  B)@TSSIold  C) 3TRfIST D) et SIS 3fTaraTss

59. Which country is known as the Land of the Rising Sun?
A) China B) South Korea C) Japan D) Thailand

forer &or T " 3eg T 7fH o AT @ S e &7
NEIGH B) & faToT hifar C) STIT= D) UTSels

60. What is the smallest unit of matter?
A) Molecule B) Atom C) Electron D) Proton
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A) ©Td T 1T FEelem

B) T 1 9T & FTeY ¥ f faT ahgey

C) &1 I HTg § ST geTar

D) ¥ T FI=IAT T AT T[0T GTed ied & TT areretay
69. What is the principle behind MRI scan?

A) Piezoelectric effect B) Electromagnetic induction
C) Nuclear magnetic resonance D) Photoelectric effect
MRI Fehet 3 dTey: T fgerie & &7
A) TSt fees gara B) SeleFgIHIATe e SgeFerey
C) TATY] Avatfess LS D) BleTSol e T3
70. A fluid is not said to be ideal, if it is-
A) incompressible B) has zero viscosity

C) compressible and is viscous D) incompressible and has zero viscosity
U el T 3T 6T gl STl &, 3 ag -
A) TEETUT & B) = ferafRrarost gt
C) Hdrgary 31t Rrafarar D) JqwETy=ig 3 = FRraferarge g

71. Which machine is used to cut and shape metal by rotating a tool?
A) Lathe B) Milling Machine C) Drill Press D) Bandsaw

ﬁﬁﬂ%ﬁﬁﬁ@ﬁmmmaﬁ%ﬁmm%mméﬁmﬁwgwmé?
A) oY B) fAfersr mrefiey C)fsergw  p)dsat

72. What does the term "TPI" stand for in thread measurement?
A) Threads Per Inch B) Taps Per Inch C) Tolerance Per Inch D) Teeth Per Inch

US ATT 3 "TPI" T FIT Hold &7
A) dsH gfa B) ce@ g swr C) ererey i &= D) gl ufa s=r

/3. Which type of fit is commonly used for press-fit assemblies?
A) Loose Fit B) Medium Fit C) Close Fit D) Interference Fit

J-fthe 3idafert & o are=ad: e a7 yeR A fve 399 $r s
AT R B) AR e ) HOETfFe D) gEaeiy ke

74. What is the function of a micrometer?
A) To measure large distances  B) To measure small dimensions

C) To cut metal D) To drill holes
HISHIATET HT S 782
A) S 2T T ATTAT B) BT HTATHT T ATIAT
C) &7 T shrest D) B¢ &
75. Which plan head incorporates M&P?
A) 43 B) 42 C) a1 D) None of the above
fore coreT g3 & veedr anfEe gar
A) 43 B) 42 C) 41 D) 348 & IS g
76. Which tool is used to ensure the alignment of a shaft?
A) Dial Indicator B) Vernier Caliper C) Micrometer D) Thread Gauge
ATFE HT TWT GIATI F¥e 3 Forw hlet &1 39T 3197 Ry 77T 27
A) 3T 3f3ehet B) FfaT Feflux C) ATSshIAET D) ¥ A

/7. What does "NC" stand for in CNC machines?
A) Numerical Control ~ B) New Control C) Non-Cutting D) Normal Control

CNC #HMAT 7 "NC" & T Adord B2
A)FIARSA FEA  B) TG HCIT  C) AARET D) A e
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86. Which of the following is not type of leave in IR?

A) Paternity leave B) Leave not due C) Quarantine leave D) Study leave
forrATofre 7 & et @ IR 31 3raerer 1 Aofr 78 2
A) Yeish gedr B) AT T S C) FARCISA HIHRTA D) T T 37T
87. Gold pass is issued to
A) CRB & CEO B) Members of Railway Board C) GM D) All of these
oS T FoRe ST fowarT Srer 7
A) CRB 31T CEO B) ToTd 1S & He &g C) GM D) AH § &
88. Which demand grant covers the expenditure on repairs and maintenance of carriage and
wagons ?
A) Grant no. 6 B) Grant no. 5 C) Grant no. 4 D) Grant no. 3

garlr mmmﬁwwwﬁwﬁmmmwwmm% ?

A SEAHEIT6  B) A HEATS ) 3iefETe W4 D) 37efeTel T 3
89. What is the codal life of Lathes or Boring Machines, working on double shifts ?
A) 05 years B) 10 years C) 15 years D) 09 years

mfﬂwwmmﬁmﬁﬁwmaﬁﬁmﬁﬁwmwé?

A) 05 Tl B) 10 #TeT C) 15 "rel D) 09 drer
90. Which wagon is used for carrying containers ?

A) BVCM B) BLC C) BOXNHL D) BRN
e & STl o oo e amaret a1 3u=iveT e srar &
A) BVCM B) BLC C) BOXNHL D) BRN
91. Which of the following is a covered wagon ?
A) BOXNHL B) BRN C) BCN D) BOBR
farfat@a & @ wiq ar Fag ape 2
A) BOXNHL  B) BRN C) BCN D) BOBR

92. What is maximum speed of loaded BOXNHL wagon ?
A) 100 kmph  B) 90 kmph C) 80 kmph D) 75 kmph

133 BOXNHL aTaTeT T 31ferehetar a1feay a7 7
A) 100 T ger B) 90 ferafi/grer C) 80 feradi/Eer D) 75 fpaft/ger
93. Which wagon is used to carry petroleum products ?
A) BOBR B) BCN C) BTPN D) BOST
geiferas 3curet 'ﬁ?aﬁ?ﬁvaﬁﬂmwm%mmﬁ?
A) BOBR B) BCN C) BTPN D) BOST
94. What is maximum axle load of BOXNHL wagon ?
A)22.9T B)20.9T C)249T D)21.9T

BOXNHL 13T &Rl AT Uarder oiig T &7

A)2297cH B) 20.9 ToT C)249¢ced D)21.9 2+
S5. Which wagon is best suited for carrying cement bags ?
A) BCN B) BRN C) BLC D) BOXNHL
mﬁzaw?mﬁﬁvﬁﬁmammwﬁ?
A) BCN B) BRN C) BLC D) BOXNHL
96. What does “T" stand for in EOT crane ?
A) Transporting B) Towing C) Tracking D) Traveling
EOT shel H “T” T T Hleld &7

A) Zrgaifés ) eigar C) EfFar D) gafrer

97. How many manhours qualifies as C-category repair ?
A) Less than 8 B) More than 100 C) 810100 D) None of the above
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ST T 1976 form o7 # Wy AT @ &2

A) EUTTS 2T B) 3Mar C) afferTg D) STFH-HIHR
108. Which of the following states falls in Rajbhasha Region C ?
A) Bihar B) Punjab C) Chhattisgarh D) Odisha

ferwsferiaa & & sia ar T TosT 87 ¢ F arar
A) feErx B) GoTTe C)odfEee D) 3nfEer

109. Which of the following falls in Region B ?
A) Delhi B) Haryana C) Daman & Diu D) West Bengal

frafafaad aslaaraT s F 3mar
A) feelr B) g ) gEaT I AT D) uf 9= gamer

110. Proficiency in Hindi is mentioned in which Rajbhasha Rule ?
A) Rule 8 B) Rule 9 C) Rule 10 D) Rule 11

8T & yaorar fora TraTermeT o F sfeaf@a e
A) faa 8 B) ey o OfFaF10 D) ATF11

_________________________________________ x____-__.-L,,ﬁi_____________._-L,,,,-_._-_-_-_-.-_x,,,..,,____-____-.._-.‘_,,7,..__-_.______-....
Space for Rough Work
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